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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVi

—o—

dFVo

0. 04 -

0. 02 -

0. 00

-0. 02 ~

-0. 04 ~

day

ECB*10%

fz_stock _ec
ECC

-3 -
—
——

= — 500 XX

Avm=m<:;

I = ——

PV

day

PHB*10%

——
—@— PHC

day

—&— DUC

day

—&— FRV

day

—&— FRC

day

fw

3500 -

3000 -

2500

2000

7.0

6.5

6.0 -

5.5 1

5.0 A

4.5~

4.0

60

58

56

54

52

50 -

42

40 -

38 -

36

34

0. 715 ~

0.710 A

0. 705 ~

0. 700 ~

0. 695 ~

0. 690 ~

0. 685 -

8. 66

8. 64 -

8. 62

8. 60 -

day



450

400

350

300

250

200

150

30

28

26

24

22

20

18

64

62

60

58

56

54

2500

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.3

1.2

1.1

1.0

0.9

0.8

0.7

Plot [['1I", "lopt’], ['T, "Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAl', ’optEtRate’]
R i II.‘ A n F\\ : :opt ||
(ssmmtin ;11| Ty
IV W~
| ~
|
i ~
0 | 25 50 75 100 125 150 175 200
d
s —
: AN\ AN — Topt
AR VNN N\
j/ \\’\V/\\\/\
Ik ] ~N
| e —_— SN —
= e
0 | 25 50 75 100 125 150 175 200
d
|
|
\/i\ — RH |
I - RHopt
0 25 50 75 100 125 150 175 200
d
i —  ETcl
i //Mm/—\ optETcl
I
g \
I
I x‘
0 25 50 75 100 125 150 175 200
d
E //\\\ — LAl ||
S
_/E‘/ xa
0 | 25 50 75 100 125 150 175 200
d
i 1 optEtRate ]
o !
W A VW A P
~——
A RATLALTTAY —
M
Il
0 | 25 50 75 100 125 150 175 200



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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EQ4AW

BYiE) | BRI (F)) | S (EAH/HR) | EBBREE (B/R) | X8 SRR

06:35 85 60.0 1.05 FA| FnHBe06:35 REFEF (RFEERES)
07:45 85 60.0 1.05 FB| FiHA@07:45 KREIZF (KAFEHE)
09:40 85 60.0 1.05 FA| FiHAe09:40 KENFEF (KRS
11:05 85 60. 0 1.05 FR| FiHA@11:05 KREFEF (KFERE)
12:20 85 60.0 1.05 FA| FnHe12:20 REIFEF (REEREES)
13:35 85 60.0 1.05 | FiHfe13:35 RHIEF (REAEES)
14:50 85 60. 0 1.05 M| HBe14:50 KEIEF (RAEEEE)
23t| 595.0 (7%) 420.0 ZUHKEC: 1920.0, PH: 5.8

REXREREC (1948.0) 5FMEC (2460.0) REK K, BFHRE
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EQ4AW_W2, Day=8 (2025-05-31)
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EQ4AW

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS EFE

06:35 60 50. 0 0.875 FA| 1Bi%@06:35 Fzh (KAEREEE)
07:35 60 50. 0 0.875 FA| {Ri&e07:35 Fz (kAEEE)
10:00 60 50.0 0.875 FA| 1E2i1&@10:00 Fzh (RFATREE)
11:50 60 50.0 0.875 FE| 1BRi%@11:50 Fz1 (kPBERSE)
13:20 60 50.0 0. 875 FH| 1Ri%@13:20 F31 (REBERSE)
2it| 300.0 (5)%) 250.0 3EUHKEC: 2000.0, PH: 5.9

EREBEHCRIRAREZ I (50 vs 70.0))

ZRIASCPRIERES6. 0 ml.

large discrepency for begining water status (91:296.0), set to 91 ml.
REXEEBIEC (1976.0) 5FMEC (2513.0) REKR KA, HFHE
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Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS EFE

08:40 60 50.0 0.875 BE| 1BRi%e08:40 Fzh (KRR
10:05 60 50.0 0.875 (& =| 1Ri%e10:05 Fzh (REEESE)
11:50 60 50.0 0.875 |Z=| {Ri&e11:50 Fz1 (KREEZEHE)
13:15 60 50.0 0.875 S| 1Ri%e13:15 Fzh (GGREAERESE)
14:35 60 50.0 0. 875 el Rige14:35 Fz (REAEHE)
2it| 300.0 (5)%) 250.0 3EUHKEC: 1920.0, PH: 6.1

EREBEHCRIRAREZ I (60 vs 70.0))

ZRIASCRRIERE43. 0 ml.

large discrepency for begining water status (35:291.0), set to 35 ml.
REXEEBIEC (1909.0) 5FMEC (3037.0) RMEKR K, HFHE
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EQ4AW

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS AR

07:55 60 40.0 0.7 RS {Ri&e07:55 Fzh (REEHSE)
09:10 60 40.0 0.7 S| 1Ri&Ze09:10 F3h (KREERE)
10:40 60 40.0 0.7 | | {Ri8e10:40 F3 (KAZERSE)
11:55 60 40.0 0.7 B 1Rige11:55 Fzh (REEESE)
13:00 60 40.0 0.7 RS Ri%@13:00 Fzi (KREAERESR)
14:05 60 40.0 0.7 | Ri%@14:05 Fz1 (REEESE)
15:15 60 40.0 0.7 B 1Rige15:15 Fzh (REEESE)
21t 420.0 (7R) 280.0 EHKEC: 1920.0, PH: 6.2

large discrepency for begining water status (42:279.0), set to 42 ml.
REREEBIEC (2002.0) 5FMEC (3690.0) REKK, HHE




EQ4AW W2, Day=5 (2025-05-28)
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EQ4AW

ByiE) | GEBEATE (FD) | ERE (BHA/) | EBREE(B/R) | XS EFE

08:40 120 40.0 0.7 RS {RRi%e08:40 Fz (REAERHE)
10:05 120 40.0 0.7 [2=| 1BRige10:05 Fzh (REEZESE)
11:30 120 40.0 0.7 [2=| 1®Rige11:30 Fzh (REAEZESER)
12:45 120 40.0 0.7 |=| Rige12:45 F51 CGRBFERSE)
13:50 120 40.0 0.7 FH| 1Bi&@13:50 Fzh (RAEREE)
15:05 120 40.0 0.7 [Z2=| 1Ri&e15:05 Fzh (FREERESE)
24t 720.0 (6%) 240.0 3EHKEC: 2664.0, PH: 6.3

large discrepency for begining water status (22:279.0), set to 22 ml.
REREEBPH (4.72) 5i&%EPH (6.45) REKK, BEHE
REFEEEIPH (4.72) 5FJPH (6.17) BEK K, BT
REXEBIEC (2675.0) S5FMEC (4133.0) RERK, BERE

LORGEREC (1910.0) S54&EAVEY (2664.0) REK K, HRE.




EQ4AW W2, Day=4 (2025-05-27)
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